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> restart;

> #Maple worksheet to check #3 on homework #3
#Math 488/688 Spring 2010 by Eric Olson

> ui=1/4%(x/2+2*sqrt(1+sin(y-xr2/4)))A2;
a= 2 Txi 2 J1-sinl -y + L X2
4| 2 4

uy:=diff(u,y);
cos ~y~1~—1-X2 b
4

1] 1 . 1.2 1
ux:= —| — X+ 241-sin| -y+ ~X - -
212 4 2 1.2
2 1—sm(—y+z?€]

1 1.2 1.2

—X+ 241l -sinf -y+ —X cosi -y + =X

[2,, '\/ ( Y 4 ]] [ g 4 ]
2\/1—sm(~y+ixz}

cos| -y + 1X2 X \
4

Al = £x+2 1-sin —y+lX2 -1—* :
2 4 2 }J 1.2
2 1——sin( ]

_y+_x
4

X }Lx+2 1 - sin —y+1X2 Cos —Y+1X2
2 4 4
+
ZJlmsm(my+%X2]

A2:= L1 x4 ,]1-sin ‘)"*'lxz
4 4

—> A3:=simplify(sqrt(u)) assuming x::real, y::real;

2

> ux:=diff(u,x);

uy =

> Al:=2%*ux+x*uy;

> A2:=simplify(AD);




> A2-A3;

1 . 1.2 1 . 1.2
— X4l -s8in] -y + =X —— | X+ 4,4/l ~-8sin|] ~V+ ~X
4 4 4 4

[} #this 1is zero only when what is 1in the absolute values is positive

> eqi=x+4%sqrt(l+sin(y-xA2/4));
eqi=x+ 4\/1 - sin( -y + %XZJ
> with(plots):

> contourplot(eq,x=-4%P1i..0%Pi,y=-4%P1i..4%Pi,numpoints=100000, contours=[0])
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> restart; #ef caleelatrovt s |
> ui=1/sqrt(Pi)*int (F(x+2*c*w¥sqrt(t)) *exp (-wA2) ,w=-infinity..infinity);
® 2
fix-+ 2 cw'\/.t)e( v dw
U=
A
> frax—>x*exp(-xA2);
(-x%)
[i=x-5xe
> Ci1=2;
c:=2
> U assuming t::positive;
2
X
{ -16 ¢ - 1)
e X

7
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